SYDNEY GRAMMAL

5G 2009 TRIGONOMETRY 1 6th March

Use your own papér. Attempt all questions.

1. "(a) What are the two acute angles of a right angled triangle whose sides are 3 cm, 4
cm and 5 ¢cm (nearest degree)?

(b) In the triangle XY'Z, /X = 30°, /Y = 82° and XY = 460mm. Find YZ
(nearest millimetre).

(¢) In the triangle JKL, /J = 27°, JK = 23cm and KL = 15cm. Find the values
of /L (nearest degree).
2. Simplify without using a calculator:
(a) cos45°, .
(b) cot 150°,

tan 60° — tan 45°
(c) 3 inta e :;n TR Express your answer with a rational denominator.
I]. .

5 - )
3. If sinf = z find all possible values for cot 6.

4. Sketch y = sin@ for —180° < § < 180°.

- 2
sin“ 6
5. Simplify ————— .
mmplify 1—sin%0
6. Prove the identity tan Asin A + cos A = sec A.

7. Solve the following equations:
(a) sinz =0 for —180° < z < 180°,
(b) sinz = % for 0° <z < 360°,
(c) cos® 2z = 1 for 0° <z < 360°,

(d) 3sec® @+ 2tanf —4 = 0 for 0° < # < 360° (nearest degree).

8. Two adjacent sides of a parallelogram have lengths of 12cm and 15cm and the in-

cluded angle is 50°. Find the area of the parallelogram correct to the nearest square
centimetre.

9. A plane flies from Sydney Airport for 70 nautical miles on a bearing of 142° and then
on another course for 60 nautical miles. If it is now due east of its starting point, find
the bearing of its second course, to the nearest degree.

tan @

10. If 6 is acute and sinf = -L. show that —
‘ 1 —sect

V3
this fraction when 6 is obtuse.

= —v/2 — /3 and find the value of
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a) Cos 45% = 1




L 1

: i\\\‘ | |

&= 1257 20T w95 | <SS

~iD 0%

v

~pt

“ap 160

7@/%‘” 1125° Lcﬁib ,2;%;5‘0

3\09

£

|4

= szé}
B s e l /6 ‘ ﬁ 6/

Coszé}

'V/‘ AT

zﬂ) Rsoc 26 + 2o O - LI“D

ALY

P TR T AT

= Jave /]

A an®8 +1) F24and —k=0

L. Pove.

S =

%AA N +cosﬂ S€c4

BN O3 T 24an & —%=0

4@AAﬁQW_A AN COSA

Btap O 4 2 4en & 1% ::a |
el JanG=x

= S\WEA v oSk
Cosﬂ.A

AAT 4 29

2 a=32 b= .

= SNZEA FCcosTA

b=g C-—1
A blF YaC

S o= .
= 1

IBAL

VA

CH —Madxol
N P

COSA R V. Slgiis S S LS R

wviém;ﬁ

e

= RH S

T

7

\ 20 =0

s&%gfgf

22622180 00 L1802 /‘/_..

4ﬁAé}"‘

= MS”O’ 5\§O

ﬁx%&//;/

A 22

D

Neﬁ Aﬁﬁ/ 'Laiﬁh“C

. /i X 12 X xS Sme .
T reamo

}H\ea, %CD = |%§r§qm t/

8/ =y 5\3 %DSlé:}(

L2228

*zozi 3 39

oS 6=

4

VL»

,ﬂ;A;MbAMMH<

: Ve




Pl

i W
<

Sm—
T

X g

:;;jﬂi\w/W‘“;f’“““W“
A 7

NN AN

ST

[

HC (9 s ObW% o

A%x = OtOW:“ LR /

%@' s

> 920 ‘

2ec (O = r

=) YhB [&,J&/m{a

ﬁ\h?ﬂé}, — \[2__ M\E v/ _

5_;565«‘% eﬁ%é o ”;




